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a*x+ad’y = d*(x+y) o|B=2




2 % O] x%y - 8xy + 15y 9] A7 ofd AL

® x-3 @ x-5
®y @ (x-3)(x-5)
@) (x-3y)(x - 5)

x%y — 8xy + 15y = y(x? — 8x + 15)
=y(x—3)(x-5)




@ x*+2x+1

@x2 + 3x

@ 2x% + 3x

@ x> +3x+1

® 2x24+2x+1

= x2 + 3x

x(x + 3)




= % 8x%y —4xy & QIp7} ofd Z20

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) (@)y(2x +1)

8x%y — 4xy = 4xy(2x — 1)




5. 9a2-16b%2 =120 3a—4b =4 & W, 3a + 4b ] S FotH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3
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@ x? + ldxy + 45y°
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Va2 +4da+4- Va2 -da+4E
oI, a o] Wz A AT AL

D a<-2 @ a>2 ® 0<a<?

@ -2<a<0 ®)-2<a<?2

Zhets) 5o 2q 2k AE FSUH.
29

~&B

Va2 +4a+4— Va2 —4a+ 4

=+/(@a+2)2- /(a-2)?

=la+2|-la-2=2a

o] 4o] 4Yatel@ a+2> 0., a2 <0 oloJoF Tk,
-2<a<?2




Ax? —4xy — 10y? =(3x + By)(2x +2y) & W}, AB 2] <

g Fajolat

(3x + By)(2x + 2y)

.. AB=-30

= 6x2 + 6xy + 2Bxy + 2By?

= Ax? — 4xy — 10y?

A=6,6+2B=-4, B=-5




10. 9= A 5 A AdeEeid A2?

D x242xy+y*=(-x+y)?

@ ax—bx—a+b=(a—b)(x+1)
@x2+x—6:(x—2)(x+3)

@ 6x>-x-1=2x+1)(3x-1)
® 22+2=(x-V2)(x+ V2)




11. 08 5 Aol 37 Bolgle 359 A58 Fotolt,

iy

\VARR 4
0
L
=
|
O

2x2 —4x =2x(x-2), x> -4 = (x+2)(x-2)
webd] 254l Qll x -2 olck,
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O|AFA 3x% + (2k - 3)x — 65 ALESHSHH (3x - 1)(x + 6) °] 2L
et olmf, ko] & Fstoiet

> E

> Hg: k=10

(3x—1)(x+6) =322+ 18x—x—6
=3x>+17x-6

x 9] AX}3}E] AlpE H|wotH

2k—3 =17

s k=10




13. (2x-1)° = (x+2)*& AR5 (3x + a) (x + b) 7} BTFAL JHe},
ol Wl, a — b9 Fh= F5HA?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4




14. 2 -2xy +)? - 95 A5kl xy o A5t &5
okef=t

> E.

> Hehl o

5}

[e]

94

o\
k
o

x2—2xy+y2—9 = (x-y)2-32
=(x-y=3)(x-y+3)
21-1-3+1-14+3=0
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16. A4 5x—2 7} TFabA] 15:2 + Ldx + A ©] 9159 o), 4 ©] g2
FahH?

@—8 @ —g ® -2 @ 12 ® 27

15x% + 14x 4+ A = (5x — 2)(3x + a) = 15x + 5ax — 6x — 2a
5a—-6=14 .. a=14
LA =-2a=-8
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Q@ x-2 © x+5
@ x-5 ® (x-2)
ONQNE) @ 6,6,
@ OG,6,6 ® O, O

= A(x* 4 3x - 10)
=A(x+5)(x-2)
=x-2)(x+5)(x-2)
= (x-2)*(x +5)




18. (x-1)(x-2)(x+1)(x+2) — 102 S15E35HH?

® (2 -1)(-6) @@ + 12 -6)
® (¥*-1)(x*>+6) @ (> +1)(x*+6)
® (x®*-1)(x*>-5)

4 _5x2 +4—10
4 _5x2 -6
(x2 +1)(x*-6)

(x> =1)(x* -4)-10




19. a+b=20°]1,a(a-1)-b(b+1)=6 L W, a-b 2] FZ F5}H?

@ 2 @4 ® 6 @ 11 ® 16

B

a?-a-b>-b=6
(a+b)(a-b)—(a+b)=6
(a+b)a-b-1)=6
a-b-1=3

w2t @ - b = 4 o]t}




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)
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Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091
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ah (V3-1)(V3+1) =0
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832_1 :(23)32_1:296_1
=28 +1)(2* +1)(2"2 + 1)
(26 +1)(23+1)(22-1)
60 T 70 Ate) o] A n-& 26 4+1 = 65 T —1=63°]E2
7132 65 + 63 = 128 9|t}
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o o, x? +3 4{&0_%0 oro A8 Y Em9

@ 130 —245 V3

5-3V3
130 + 755 130 + 753
o +2 V5 @ ' V3
130 + 755 120 + 753
@ +—\/_ © —\/_
3 2
5+3V3 _ 5+3V3
T (5-3V3)(5+38) -2
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1
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1 260-90V3  130-45V3
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o] Adold wf, b3+b%c+bc?—a’b+c—a*c =0

b (b +c) + b(c? - a®) + c(c? - a?)
b (b +c) + (b+c)(c? —a?)

(b+c)(b? + c? - a?)

b3 + b%c + bc? — a?b + ¢ - a’c
b, c= 730l &

o

A b2+ 2 —a? =0, + 2 =a?




